BAI E R BDB825 STAND: 07.09

ERSETZT: 05.07

Elektro- ID-Nr.: 63651 ANR: 3
werkzevge
POS IDNR BEZEICHNUNG MASCH PEPG
1 59725 SAUGROHR 103
2 59709 FEDERKLAMMER 323
3 66704 ABTRIEBSWELLE 116
4 22475 KUGEL 4 DIN5401 304
5 49452 ZYL.STIFT 4X18 DIN6325 307
6 37705 O-RING 18X3,5 201
7 38794 SICHERUNGSRING J 42X1,75 DIN472 207
8 29744 RILLEN-KULA 6905 LLU 108
9 59717 WELLENDICHTRING 30X42X7 DIN3760 323
10 52878 SCHLAGRINGWELLE 109
11 52886 SCHLAGRING GEHAUSE 111
12 50260 LINSENBLECHSCHR.4,8X100 DIN7981GAL 312
13 61002 GETRIEBEHAEUSE 117
15 33019 RILLEN-KULA 6203 105
16 50716 SICHERUNGSRING J 40 DIN472 311
17 59675 ZAHNRAD 40Z 112
18 59758 SCHALTSTANGE 109
19 59774 AUFKLEBER SCHWARZ 312
20 60749 O-RING 13X2 303
21 59782 AUFKLEBER GRUEN 312
24 22400 RILLEN-KULA 629 103
25 76455 VORGELEGEWELLE KPL. 116
27 12724 FLACHDICHTUNG 206
28 22103 ZYL.STIFT 4X16 DIN7 307
29 61192 MOTORDECKEL 114
30 37127 RITZEL 5Z Loctite638 auf Ritzelgewinde 110
31 42713 RILLEN-KULA 6201 2RS 104
32 21600 LUFTER 103
33 37747 ANKER 230V 118
34 5116 ISOLIERRING 204
35 22681 RILLEN-KULA 6000 2RS 103
36 41418 LUFTLEITRING 102
37 15313 HANDGRIFF PA-GF 210MMLG 106
38 36137 LINSENBLECHSCHR.3,9X80 DIN7981 GAL 202
39 45856 FELD 230V 115
40 45443 MOTORGEHAUSE 111
42 45872 KOHLEBURSTE 103
43 32508 KOHLEHALTER A2 104
44 45625 KOHLEHALTERDECKEL 204
45 21030 POLYPLASTSCHR.4,0X12 DIN7981 GALV 309
47 25221 KNICKSCHUTZTULLE 204
48 58644 KABEL MIT PRCD SCHALTER /PE 120
49 17913 KABELBRUCKE 208
50 20990 LINSENBLECHSCHR.3,9X16 DIN7981 GAL 308
51 44941 POLYPLASTSCHR.5,0X38 DIN7981 GALV 309
52 42721 POLYPLASTSCHR.4,0X19 DIN7981 GALV 307
53 35055 ELEKTRONISCHER REGLER 114
54 24844 SCHALTER 110
55 32607 HANDGRIFF KPL. 110

Maschinenfabrik OTTO BAIER GmbH, Heckenwiesen 26, D 71679 Asperg, Germany Seite 1v. 3
Tel.: 07141 / 30320 Fax: 07141 /303243 '



BAI E R BDB825 STAND: 07.09

ERSETZT: 05.07

Elekctro- ID-Nr.: 63651 ANR: 3
werkzeuge

POS IDNR BEZEICHNUNG MASCH PEPG
56 49684 GRIFFVERLANGERUNG 103
60 59766 HINWEISSCHILD 208
61 61556 HINWEISSCHILD (SOFTSCHLAG) 208
62 59543 TYPENSCHILD 208
63 31088 FIRMENSCHILD 316
64 62844 HINWEISSCHILD (RASTSCHALTER) 208
70 62216 WELLENDICHTRING 30X47X7 DIN3760 323
71 63073 O-RING 44X2,5 far Spiilkopf 60681 (optional) 323
94 48504 ANSCHLUSSKLEMME 1-P 317
95 48918 SCHUTZLEITER 207
96 62331 U-SCHEIBE M4 DIN433 GALV. 302
97 48280 FEDERRING A4 DIN127 GALV 301
98 48249 FLACHKOPFSCHR. M4X6 DIN85 GALV 305
99 48512 ERDUNGSZEICHEN GELB/GRUN PVC 311

Maschinenfabrik OTTO BAIER GmbH, Heckenwiesen 26, D 71679 Asperg,

Germany .
Tel.: 07141/30320 Fax: 07141 /303243 Seite 2 v. 3



Diamant—Bohrmaschine \

BDB825

ID 59832

AE.=Nr. 3

ersetzt: 05.07

Stand: 07.09




